
Деталировка и лист запасных частей FROSP AF-9034C



No
.

Description No
.

Description No
.

Description
1 Hexagon socket countersunk 

head screws M8*16
35 o-ring 6.4*2 67 Guide bar

2 Air commutator 36 o-ring 9*1.8 68 Hexagon socket head screws with 
cylindrical head M4*8

3 Reversing rubber pad 37 Switch spring 69 Type I non-metallic insert hexagon 
lock nut white M4

4 Limit spring 38 Switch lever L:32 70 Cross recessed pan head screws 
5 Spring wire 39 o-ring 2.4*1.6 71 Hexagon socket head screws with 

cylindrical head M4*40
6 Hexagon socket head screws 

with cylindrical head M6*30
40 o-ring 18*2.65 72 Support rod

7 Spring washer 6 41 Switch seat 73 Support sleeve
8 Flat Washer black D=6 42 Trigger cross pin 74 Pin sleeve
9 Cylinder head plug black 43 Trigger black 75 Torsion spring pin
11 Cylinder head black flat 44 o-ring 1.7*2 76 top
12 o-ring 41.7*3 45 Safety block combo 77 Clamping block
13 o-ring 56*3.1 46 Elastic cylindrical pin 3*16 78 Elastic cylindrical pin 3*20
14 Balance valve assembly 47 Slide seat 79 Elastic cylindrical pin 5*20
15 Spring seat 48 Elastic cylindrical pin 3*26 80 Hexagon socket head screws with 

cylindrical head M3*14
16 Balancing valve press spring 49 Safety frame press spring 81 Type I non-metallic insert hexagon 

lock nut white M3
17 Spring seat washer 50 Hexagon socket head 

screws with cylindrical 
head M5*10

82 Plain cylindrical pin B5*12

18 Tight ring 51 Spring Washer black 5 83 Plane vortex spring
19 o-ring 42.5*5 52 Plain washer 84 Spring core
20 Piston assembly 53 Adjusting nut 85 Plain cylindrical pin B4*30
22 o-ring 88*3 54 Safety rack 86 Hook shank
23 Retaining ring 55 Safety nozzle 87 Hook shank torsion spring
24 Cylinder seal ring 56 Wire tight ring black 88 Type I non-metallic insert hexagon 

lock nut white M5
25 cylinder 57 Safety muzzle red 89 Large Washer Black D=5
26 cushion 58 o-ring 59*1.8 90 Positioning seat
27 Cylinder head gasket 59 Nail head 91 Type I non-metallic insert hexagon 

lock nut white M6
28 Gun body 60 Spring washer 8 92 Hexagon socket head screws with 

cylindrical head M5*25
29 pad 61 Hexagon socket head 

screws with cylindrical 
head M8*25

93 Gun handle sheath

30 Valve seat 62 Hexagon socket head 
screws with cylindrical 
head M6*16

94 End cover gasket

31 o-ring 15*2.65 63 Large Washer Black D=6 95 End cover
32 o-ring 16*1.6 64 Gun head cover 96 Flat Washer black D=5
33 Valve sleeve 65 Magazine white 97 Hexagon socket head screws with 

cylindrical head M5*20
34 o-ring 6.1*1.8 66 Flat Washer black D=4 98 Pipe joint

99 Protective sleeve for pipe joint

Модель A F-9034C     Версия от: 2012.07.12     Деталировка обновлена: 2024.04.08


	Пустая страница


 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 8.268 x 11.693 inches / 210.0 x 297.0 mm
     Action: Make all pages the same size
     Scale: Scale width and height separately
     Rotate: Counterclockwise if needed
      

        
     D:20230718121257
      

        
     0
            
       D:20230718121254
       841.8898
       a4
       Blank
       595.2756
          

     Tall
     1
     0
     -1107
     209
    
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     Separate
            
                
         AllDoc
              

       CurrentAVDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     1
     2
     1
     2
      

   1
  

 HistoryList_V1
 qi2base





